3aunsrue 7. Pag dypobe

1. I[TpoBepuTs ycnosus dupexite. Haittu cymmy psga @ypee S(-2), S(-1), S(0), S(1), S(1.5)

Paznoxuts B pang Oypee

-1, xe(-m;0) L, 2¢1-(=D)"
4372. y = 1, x[0;n) Otger: y—nnzzll - sin nx
yA
4391. \/ N \/
2 1 1 2 3 4 ;
o Zsinzgn 3(00322’71—1) oNTX
OTBeT: y=§+n2=; - + 7 cosS

4373. y= % —g, X € (0;7) B psx o cuHycam.

Ortger: y=121+(_1) sinnx
2= n

4394. y =x(n—X), X € (0;7) B psix 0 CHHYCaM.

. © (_1)!’1—1
Hawtu cymmy psaga
yMMY psiz nZ_;(Zn_l)g

1) y=|4—x], xe(0;5) B psia mo KocuHycam.

Hom.

Paznoxuts B psax Oypbe
4384. y=¢*, xe(-3;3)
4) y = x|+x, xe(-2;2)



